[ Efficiency vs vertpos |
~0.02

LB RS

...............

..............

S SRS M % ------ —
(11| SRR A _I, T
) S 1Y

1072 10 1 0?
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd __,__ pQMstep3_TT_defaultNEWT203

~ 0.05
9.045
2]
0.04
o)
9,035
o
£0.03
(]
0.025
0.02
0.015
0.01
0.005
0

Ratio

10 20 30
TP vert z (cm)

-2

[ Efficiency vs. sim PV z |
~ 0.0 . T T T X
> : : : : :
L Rl | R S S R
B 008+ oo o
9 007 oo ffl o
PN : : : :
L S [ HERIE SIS UL S
o : : : :
£.005
©
0.004
0.003
0.002
0.001

o
1.5

Ratio

20 -15 -10 -5 0 5 10
Sim. PV z (cm)



	Contents
	Page 1


